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1. Let 5 be the set of all persons living in
Delhi. We say that x, iy in S are related
if they were born in Delhi on the
same day. Which one of the following is
correct?

fa)l The relation iz an equivalent
relation

{b} The relation is not reflexive but it is
symmetric and fransitive

fe}  The relation 1z not symmetric but it
is reflexive and transitive

(d] The relation is not transitive but it
is reflexive and symmetric

2. letA=11,23,4,5,6,7, 8,9, 10). Then
the number of subsets of A containing
two or three elements 1s
faj 45
fb) 120
fe} 163
fdj 330

3. The value of {*" +{4n+1 4 j2n+2 e
where i = +~1, is
fej O
fb) 1
fel i
fd) —i

GRE-8-FDE/TOA

4. If the difference between the roots of the
equation x? +kx+1=0 is atrictly less
than /5, where |k |22 then k can be
any clement of the interval

fa) -3, 22, 3
b} -3, 3

fel [-3, -2|ug, 3]
{d} None of the above

8. If the roots of the equation x* + px +g =0

are in the same ratic as those of the
equation x2 +ix+m=0, then which
one of the following is correct?

fal p?m=1g
fbi m2p=]2qr
fc) mzp=qgf

(e} m2p1 _‘-2‘?

6. The value of

-1+8f3)" | (-1-1/3Y"
‘A

where n is not a multiple of 3 and
i=+-1, is

fa) 1
i -1
fe} &

fed} —i

[ B.T.0.
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7. Three-digit numbers are formed from the

digits 1, 2 and 3 in such a way that the
digits are not repeated. What is the sum
of such three-digit numbers?

fal 1233

fb) 1322

fel 1323

(] 1332

8. What 15 the sum of the series

03+ 0:-3340-333+... 1 terms?

o 3o i)

1 2 1 1]
o 3|n-5(1- )

10" /]
5.3 1 Y]
Ko e [,
fcl n 3[ Ton ]

9, If 1, w, w® are the cube roots of unity,

then (1+o)(l+ 0?1+ o)1+ n+e?] is
equal to

faj -2
b} -1
el ©

[l 2
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10. If the sum of m terms of an AP is n and

the sum of # terms is m, then the sum of
[+ n) terms is

fa) mn
b} m+n
fcf Zim+nj

fd} ~im+nj

11. The modulus and principal argument of

the complex number

are respectively

fa) 1,0
el 1,1
el 2,0

(@ 2,1

12. If the graph of a quadratic polynomial lies

entirely above x-axis, then which one of
the following is correct?

fa} Both the roots are real

(b

fc)
fd}

One root is real and the other is
complex

Both the roots are complex

Cannot say

[P.T.Q.
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b
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fel -2 255
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fcl 256
b
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13. I |z+4|< 3, then the maximum wvalue of 16. The sum of the roots of the equation

|lz+ 1] is x*+bx+e=0 (where b and ¢ are
non-gero] is equal to the sum of the

fal 0O reciprocals of their squares. Then
1. b, E are in

b 4 ¢

o 6 fa) AP

3
(B} GP

{d 10
e HP

14. The number of roots of the equation {d} Mone of the above

z* =27 is
17. The sum of the roots of the eguation

a2 ax® +x+c=0 (where a and ¢ are

non-gera) is equal to the sum of the
reciprocals of their squares. Then

Bl 3 - -

i, ca®, ¢° are in

e % fa) AP
{d] zero fbj GP
fey HP

15, I coto and cotf are the roots of the
equation *% + bx + o= 0 with b= 0, then fd} None of the above
the value of cot jo + f] is

18. The value of

R
B [C(7, O+ C(7, U]+ (7, 1+ C{7, 2]
k.o + Q[T &+ C[T, ?;||
m = is
fal 254
il b_
g=1 (b 255
e} 256
b
fd) —
l-e fdl 257
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19, W= 'EQUATION' 3 70 | T =1 9% a5 22, it

g vt F fafis e i den s el 1,3, 7,15,
Forrn sTE 9 319 O =5e9 4 B Y 2 4 8 16
* HEE n 9E W A e e Ry
fe)  B200
fa) 2" —-n-1
(b} 4320 b} 1-27"
fe] 27" +n-1
fej 3000
fd} 2" -1
fd) 2160

23. HgEAl A 9 B F v 1 PrefafEs m
EE A
[A-BluB=A
[A-Blud=2a

20. n T W TR AEE A (AP), e am 1
2
3. (A-B)mB=¢
4

n? —2n %, =1 wieE] e e Ao 87

fal S AcB=AuB=82
IEE §F w0 al R
fb) 7
fa) 1,233
fcl 8 (b)) 2, 334
[ 15 fe] 1,334
fdi 1,294
21, B-3Em w fwn demal = am e s 24, e B-smadl
L4 (1p107), +(10g1); = (100700,
Hﬂp,q‘q rﬁ'mﬁilﬁpl qaﬂ-{ F
Bl 2ATa % wiRm T e T S 7
B 2530 fe} 0,1, 0
fby 1,1, 0
fe} 4905
jeg 0,01
fd] 5049 ) 1,0, 1
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19. The number of different words (eight-
letter words) ending and beginning with
a consonant which can be made out of
the letters of the word ‘EQUATION' is

fa) 5200
(bl 4320
fcl 2000

{d) 2160

20. The fifth term of an AP of n terms,
whose sum is n? -2n, is

fal 5
b ¥
fc] B

fd} 15

21. The sum of all the two-digit odd numbers
8

fa) 2475
(b} 2330
fc) 4905

fdj 5049
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22. The sum of the firat i terms of the series

l+§+zr‘.j.§+l__
2 49 8 16

is equel fo
fa] 2 -n-1
i 1-27"
fe) 27" +n-1

fd) 2™ -1

23. Consider the following in respect of sets

Aand B

l. (A-Bjw8=4A

2. [A-BjuA=A

2, [A-BjmnB=¢

3 ACc B=Aub=8

Which of the above are correct?
fa] 1, 2 and 3
b) 2,3 and 4
fel 1,3 and 4

{d} 1,2 and 4

24, In the binary cquation

(p101, + (1061, = (10000,

where p, g and r are binary digits, what
are the possible valies of p, g and r
respectively?

jal O, 1,0
M) 1,1, 0
el 0,01

@ 1,0, 1

| P.T.O.




25. U8 S={x:x2+1=0, x TwEakEE ¥}, M S 28. Ift B UF wE A= ¥ AN A T T

o o &7 AR B, @ det (B ' AB) %1 5 fegd o
BT
fa} -1}
fa) det(8)
fby 10}
(b} det(A
] {1
i fc) det(B)
(d) e Tom W=
(dl det(A™Y
26. (x-y)", n=5% TR x B Um F ugid _ o :
won 3 ol o B aR oied 9 e gdl w A 20. 4 aebec B, @ x @ uww Y oAw, @
T R, T T s A GHIRT
y )] x—-a x-b
x+a L] x—g|=mf
fa) E;ﬁﬁ- z+bh x+¢ O
=) wgE w0 b, Rk e b
-4
ki @) a
B b
5
¥ %9 G
fdl 0
3]
R
30. =iz
i T cosg osini
e | —sina COS O
27. 1fE ,-1L=|.2 u.J M detja?)=125 B,
B, T oAAT T ow % (= AT, A=
o o Frak ot By ot &7
& *2 (o) T W
fel =3 fe] A
d] +£5 fd} —A
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25, I S=(x:x2+1=0, x is real}, then S is 28. If B is a non-singular matrix and A is
a square matrix, then the value of

(@ -1 det {(B~1AB) iz equal to
fb) i) fa) det(B)

fe) det(g!
fdl an emply set P

idl detja™")
: 26. The expansion of (x-y|", nz5 is done
in the descending powers of x. If the 29, f o« b#c, then one value of x which
sum of the fifth and sixth terms is zero, satisfies the egquation
then'-t-iﬂl:qualm 0 x-a x-kb
v
i x+a 0 x-g|=0
-3 x+bh x+c LK
@) = -
& o
is given by
iy B2 (@ a
b
b b
5
ic/ T fcj e
' fc) 0
6
fed) ——
30. If

Tl Cos@  sino
| —sine coso

2 o

then o is eqgual to

x 2
27. If .n.=[ ] and det(A®) =125,

then what is AAT equal to (where A7 is
the transpose of A)7?

fa) *1 fa} Null matrix
(b} +2 (b} Identity matrix
fe) +3 fc) A

d) +5 e =

GRE-5-FDE/TOA 11 [ P.T.O.




31, T
x+2y+3z=1
Zx+y+3z=2
Sx45y+9=z =4
o e & A7
() T wfgdg v b
(b} T SR SEE EE R

fc} & FETE R
(d) Fdw A A
lx+y 3 4
w10 2 e
B TR AR = CY, T A2 Fros e ]
"4 8
L —IE]
oy T SR
" e -iﬁ]
-4 -B
i tz]
o [~ =8
@ g 1:]

33. unfire (feiffe)

|1 1 1
|1 1+ xyz 1 ‘
i'.l 1 1+ xyz|

fererh w27

@) lrx+y+z

b} 2xy=

el x?yte?

I'ﬁ.'r.i' ﬂ:rzyzzﬂ
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34. i

®, M fafefen & 4 s9-m o 27
fex) i,ﬁ#%waﬁﬁﬁﬁt
fB) x, T & wgEl 4 A uw R
fe) y, T % el § W R

) ﬁ, —1 A 0 A T R

36. =i (¥&) 3x3 F Wi w7, A

vl Fa@ 0 FuaM 1§, F W A W
Toram +iem o= it 8 B, A W1 T T
Ipg=a ¥ Radt A wh srep §ORer
Pl s s i e & o A =
T TE IEgwy ¢ s ol aeE F
T = 9w -1 R, O Feafafae 4 @
w-8 Od &Y

ja) CTE#
() BE I8 amge B, fm e oo
fel A= BwC

d) B, 3 dE T sy




31. The eguations
x+2y+3z=1
22X+ y+ 3x=12

2x+oy+ 9z =4

(@l hawve the unique selution
) have infinitely many solutions
fo) are inconsistent

{dl HNone of the above

3 4
33 a=(""¥ ¥ | ga|” lanac=| T
X x=y -2 =0

If AB= C, then what is A4 equal tor

4 8
fa) [—4 —15]
" i‘4 -4
) E —]Er]

r—4 -8
fd |4 12

5 <% =5
fe) [a 12 |

33. What ia the value of the determinant

1 1 1
1 1+xy= 1 7
1 1 1+ xu=

fal T+x+y+z
(b)) 2xyz
fe) x?y?z?

{d) 222y =2?

ORS-5-FDE/T0A
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x5 0
34, (0 = yg|=0, then which one of the
¥y 0 x

following is correct?

X . s
fa ; iz one of the cube roots of unaity

Bl xis one of the cube roots of unity

el misone of the oube roots of wmty

id) ‘; iz one of the cube roots of -1

35. Consider the set A of all matrices of order
3% 3 with entries O or 1 only. Let B be
the subset of A consisting of all matrices
whose determinant is 1. Let C be the
subset of A consisting of all matrices
whose determinant is —1. Then which
one of the following is correct?

fa) Cis emply

{&) B has as many clements as ©

fef A=BuC

fd} Bhas thrice as many clements as O

[P.T.C.




PO PO v "i"ﬂ] E 30, TR sin A== ¥, T 45(P< A < 540° B, T
-ginfA cosB 5
AT BT cu:fgﬁﬂﬁimﬁ?
[ cos 38 sin 38 _ 1
(el | ~sin 38 cos 36 fa} 'ﬁ
[ coat @ gind 6 | [F.
b L/ B
b | sin® B C‘DE-'BHJ V1o
J3
[cos 30 -=in 38 fe) ==
fe) it 36 r:na.EEI'J 4
() T A B
[ cos? 8 -ein? @
d Cis
" | sin?® &nﬁaﬁ-‘
T e V3 o o B
gin 10F cos 1{F
i-{l h o [ x fer) 0O
3'?.[xyz!|h b f || uw| @t wR (i)
g f e]le i1
w1 B
el 2
fal 3=
d) 4
B 1x1 fd)
fe} 1=3
@ 33 41, 100 m F98 % TE TEW-E F A 0
e -
T A= m“_'['i's'g] kR
re 11 wEm-=awd & s gl e Be
38, H?Eﬂ-[] 5 %, 6 AT T OE R
j@ 120 m
1 1 o
@ |y s & {b) 180 m
fe} 240 m
0 0] 0 1]
fcl fed)
1 1] 1 0 {d) 360 m
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36. If A= cosd - snd then what is 39, Ifsin A= 3, where 450°F< A < 5407, then
-sinfl cosh |’ i 5
AY equal to? cos 5 is equal to
) [ cos 38 =in 38 1
(@ | —s8in 38 cos 38 | (a} Jio
[ coe® B sin® @ (3
B fo} = f=—
i | -sin® 8 cos® @ V1o
[cos 38 —sin 38 icl A3
fe) | sin 38 cos 30 l 10
2 Mone of the above
il cos? 8 —gin? @ (@)
| sin? 8 cos® @ -
0 WhHat T | to?
W ATE pomitp AT
37. What is the order of
” 0
(a h g]f x faj
h b ?
[x w =] i v b 1
g f ¢l =
2
fa) 2x1 (el
b 1x1 fd] 4
fel 1x3
41. From the top of a lighthouse, 100 m
fdl 3=3 high, the angle of depression of a boat
is tan” [I_EIEJ What is the distance
3B. If A= " i 1-‘ then the value of AY is between the boat and the lighthouse?
) 11 )
e 120 m
i o 11
fa) |0 1 ®) 0 0 fB) 180 m
240
fci [D % i) [n 1] » :
G,
1 1] 1 0 [d) 360 m
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42, Einl\f.x+£}|+r:u3[x+2] &1 sltRay g,

[u. .g}aa sirel , P et § ww e

T n
BLLh 4 bl =
fa} T (b} 5
f 14
fe} 3 fd} 3

43. 97 K n:a:in[fil]ain[rﬂ]ﬂin [%] #,

\13) 15
A K e aa By
1 1
feaf 5 (B =
1 1
fie) 5 {d) 7

g4, EEiT:-EH B1T10L l-E:i'I'.I.E- m Lo %?

cosa +cosf
faf tan

(bl oot

fel  =in I:ﬂ; ﬁ]

jeli !:l:m[ﬂ +ﬁ]

45, i sinf = 3sin (@ + 2u) %, Hl
tan @ + o) + 2 tano F1 9 s e 37
fa) -1 b 0
fe) 1 (d) 2
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46, tan 18° THaE == 27

NB=1

faj —*7
W10+ 245

V5 -1

b
o V10 +45

W

J10+ 245
|".|:l|| “—J'_"'"'——
S5=1

47, WA #it & x, y, = YR AR GEE
muen 8 2 GgP A R S tan ',
tan 'y M tan 'z #@F AP # ¥, W@
Frafafas 7 9 F9-m 5d 27

fa) x=y=z
B xzml
g xzyd y==2

Jed) x=y3-1"ﬂ Y&z

as. IR tanjo + [} =2 afn tane —-H =1 (1
ran {20) TR a0 27

fal -3

b -2
o), =2

3

fe} 1




42 The maximum value of
. T i n
E]hf.ﬂ.’* ]Tﬂﬂﬂ[-’-’+ ']
\ &1 f

in the interval [I:}, EJ is attained at

1 by &
" fe) 13 ik i
m f[

fci 3 (el] =

V18 18
what is the value of K7

43, If K=ain§.l]sm[$3)ain{-?f], then

@ B 5
€ = )
&4, The expression ::;: :::::ﬂ_i is equal to
. fal tan :ﬂ;ﬁ)
' i) :nt[%ﬁj
fe) sin ::E-l;E';
(d} cos [“;E‘-J

45. If sinfl = 3sin(8+ 2u), then the value of
tan[® + o)+ 2 tana is egqual to

faj -1 ib) O
fe) 1 fdy 2
ORE-S-FOE/TOA

46. What ig the value of tan 189

S e
J10+28

far)

J5-1

=
Y10+ /5

J1042/5
[ =
(e} Ja-—1
1.'1{:'+-'."§

el
@ =g

47. Let x, y, 2 be positive real numbers

such that x, y, z are in GP and tan™ x,

'z are in AP. Then

which one of the following is correct?

tan”' y and tan

faf x=uy=z
fb} xz=1
jef x#yand y=z

fd} x=yand y£=

48. If tanfx + ) =2 and tanjx-f =1 then
tan [2¢) is equal to

la} -3
by -2
1
fef - 3
fedl 1

[ P.T.O.




49. faya Apc# Ty Freafafian w faan i 52. ™ fgm, T o ap, W3), Bl o ik

3 Sin[_ﬁf_c]ﬂm(g] Cl2 08, %1 =33 8
2 2/
B+ A fal [| :’EJ
2. mn( 2ﬂ=cnt|:-£] G
3. sin(A+C)=cosA 91
4, tan|B+C)=—cotA °l [E’ﬁ]
& FE-3 Y
T e B " [E 5
ja) 1 3R 3 3 2
iy 132 r
fe) 134 ) [IEJ
fd} 23k 3
53. oft vE wwm wmdm ok R wmem o
50. =fz sccl’l—tnanc'El:% %, T (sinf - cos#) {—E,I—li. (1, O =00 4, 3 &, o =hd o =
I T = BY
ja) ¥EA -2 ) 11, 2
) L B G B
2 © (0, 0)
o _ 1
¢ -23R 2 @ {1, -1)
Ml sl a@-
&l Eqﬁt 2 sa. 3 - 3y o r? e
x% 4 y? —10x+16=0 F fim fagsl wm
51. ufz fedll g = v 3fed (1, 1) % ofw = o viody = 8, @ FoafefEm § & F9-m
# f oW oA 26 oyl % wefieg EL L
(-1, 2) 3 (3, 2) 8, @ Brgm w0 e g P W -
L9 7
@ (-5 @ (-]) {b) =25 =8
g - el rFr<2
0 (3 @) oo

GHS-5-FDESTOA 18



49, Consider the following for triangle ABC: 52. The incentre of the triangle with vertices

. B+ A A1, ¥3), BI0, 0) and C2, O is
¥ E!ﬂ[ b -J=¢GE[E‘|
o g @ (15)
2, tan[ 2 ]—.mt,_ﬂﬁ : 5
3. Eil‘l[ﬂ-l- E":EDHH g "
4, tan(B+C)=-cotA fE) [3. -.,."E.J
Which of the above are correct?
fe) (3 _‘@J
fal 1 and 3 P
jb) 1 and 2 :
(c) [1. —)
je) 1 and 4 7
fdi 2 and 3

B3. If the three consecutive wvertices of a

4 parallelogram are (-2, - 1), {1, O} and
50. f smecB-cosecB=-, then what is

3 {4, 3, then what are the coordinates of
|sin & = cosd) equal oY the fourth vertex?
faj -2 only fa) (1, 2)
1 fby (1, O}
- |
(b 5 onty
fe) (10, O)

1
Both -2 and —
i e fd} (1, -1}

, 1
dl  Meither — nor — 2
i 2 §4. The two circles x*+y°=r2 and

x? + y* —10x+ 16 =0 intersect at two

B1. 11 a vertex of a triangle is (1, 1] and the digtinct points. Then which one of the
midpoinis of two sides of the tnangle following s correct?
through this vertex are (-1, 2] and (3, 2},
then the centroid of the trangle is fal 2<r<8

¢l e i il =]
-+, £} b [—1.—) () r=2orr=8
fa LR e (el 3
fo r<2
! L 7
LA Lk
(e [3 3) @ [ 3] fd) r=2

GRE-5-FDE/TOA 19 | BT,




55. ©E g4, @ g (3, -2) R -2, 00 & A 58. U W) T, W Qx4 3y+ 1=O0F WHM E T
wn & i T R, W 2x - y-3=0W g (- 1, 2) 8 T = R, W adEo R
e &, w1 wftsr sy #7

fal 2x+3y-4=0
e x? |y1+3x+2-n

B 2x+3y-5=0
(i) xg-ry"" +3x+ 12y+2 =0
e x+y=-1=0

a b4 -
.|'l$||| X Uy F3ax=0 !"u'_'ﬂ 3.#_25._}?:0
{d} x? +y2 -3

59, A Wl & e J2x+J3ye-1 @R

x4 42y = 2% ofta | g T R
86. o fgatt a2, -2) s BR, -4 B BEY

; = 20 |
wtwiwd g2 T @ (5]
Fu A Tawrf e R?
jal 1:3 - 1
) tan™'| —
o (&)
[ Lo O RS e o 3
4l 2:3
() tan_1[ix|
57. Tk =gy, el 9l (22, o) 9 o6 31'!!. Vi)
= WHIE BH-H BT
e yz
o ree 60. Tt TF fga, = (7, %), (v, —6 ¥W (9, 10) B
& B, W %Rk (6, 3) B, # x 9 y FAM:
PERT Tk ara &7
B otes™?
fa) 5,2
b p
o Torao=l b 2,5
fef 1,0
xi yﬂ_
@ satao"1 (d 0,0
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55. What is the equation of the circle which
pasacs through the points (3, =2) and
(=2, O} and having its centre on the line
Ax =y=3m 0P

fa} x?+y2+3x+2=ﬂ
)] :2+y2+3x+1‘2y+2=ﬂ
fai .zﬂ+yn+2x=ﬂ

fd) x*+y* =5

56. What is the ratio in which the point
d 30

-.':[- 2 '77] dividis the lisie joining the
points Al-2, -2 and B2, =4)¢
fa} 1:3
B 314
fej 1:2
fd) 2:3

B57. What is the equation of the ellipse having
foci (42, O and the eccentricity Il?

iaj f;-;+gz=|
b E_:*"E;:’
fc f;?+~5"~;=1
(e} “; +.gz=1
GRE-2-FDE/TOA
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58. What 18 the equation of the straight line
parallel to 2x+ 3y+1=0 and passes
through the point [=1, 242

fa) 2x+3y-4=0
B 2x+3y-5=0
el x+y=1=0

fd} 3x=-2y+T=0

5%9. What 1s the acute angle between the
pair of straight lines +2x ++3y=1 and
J3x+4By=27

o o)

o ()
e} tan~! (3

@ wt (5]

60. Il the centroid of a triangle formed by
7, =}, (&, —8) and [9, 10} is [6, 3}, then
the values of x and y are respectively
fa) 5, 2
B 2, 5
el 1.0

{d 0,0

[ ET.0.




61, UF Bt v, e fog w0, 1, 0)
fa) x-3E o WA B
(b y-we i aui
fe] z-3E ¥ WA B

() wi e o S w— g s B

62. {0, 0, O {a, 0, O, [0, b, O R (0, O, ) TW
fatim et 81 3w famg 1 Frdwmes, = 9 =
et & wwawe gfl w2, w0 RP

a+h+n a+b4co u_--b-H:)
Gl e e

b e b c)

@ (3 7 3)

63. famg P(3, 2,4, OB, 5,2, RI5 8, 0 3
sg, -1, 6

fa) wE wEEdm, W ouw T A R, F -
g B

(b} swEdty &
fe) a1

() e §, feg e 8

GRS-5-1"DES/TOA

64, frgai (1, 2, - 1) 3 (3, -1, 2 A = A
t, ye-rean 4 Pefafim faget 3 0
i firerd #7

@ (0. -2, 9)
o (o)

@ (0 -2, -3

(d) [u, Z ,é]

65. Frffian 3 & =9- s Sl % sl ol
x=ay+b, z=cy+d M xmey+ f;
z=gy+h @4 B!

fal ae+eog-1=0
b ae+bBf-1=0
fcl ge+ecg+l=0

fdl ag+ce+l=0

66. A d=i-j+k, B=20+3]+26 oM
E=i+mjenk o9 wore wfim § sl
|| = 6 &, 7 Frefaras 4 8 59-3 1S 59
87

fa) m=2# n=1+1
fb) m=+23Mn=-1
fod m=23n=-1

jdf m=+23n=1



61. A straight line with direction cosines
(0, 1, 0) is

f} parallel to x-axis

fbi  parallel to y-axis

fei  parallel 0 Z-axis

fd] equally inclined to all the axes
62, (0, 0, O} fa, O, 0}, {0, b, O}and (0, O, ¢} are

four distinct points. What are the

coordinates of the point which 18
equidistant from the four points?

a) [I:.'-!-I-EJ-H: a+bh+o ﬂ+b+c}

3 - 3
) e b, o)

o (353

_.,
B
r——
| &
Wl
|
S

63. The points P(3, 2, 4}, Q@, 5, 2}, R[5, 8, O}
and S2, -1, 6] are

fal wertices of a rhombus which i1s not
a square

(b non-coplanar
fe} collincar

{dl coplanar but not collinear

GR5-5-FDE/TOA

64, The line passing through the points
(1,2, -1 and (3,-1,2 meets the
pe-plane at which one of the following

o
o (019
w3
T
@ (003

65. Under which one of the following
conditions are the lnes xsay+b;

z=cy+d and x=ey+f, ==gyt+h
perpendicular?
fal ae+og—1=0
Bl ae+bf-1=0
fe] ae+eog+l=0
idl ag+ce+l=0
66. If d=i-j+k, D=2+3j+2f and
d={+mj+nk are three coplanar

vectors and |¢| = +/6, then which one of

the following is correct?
fa} m=2and n=+1
fo} m=%2 and n=-1
fel m=2and n=-1

fdl m=1t2 and n=1

| B.T.O.



67. W et % ABCD % WA agda @ fe TO. aft @ =27+ 3] +4K 3N b = 3 +2]- Ak 74

N i s s S #, T A o R
ﬁﬁﬁi,ﬁ!a’+ﬁé+aﬁ+5ﬁﬁmﬂa
= B Y ra}.z
fa) 20P b 3
b} 40P el 4
R fdl 5
fol 6OP
(d) BOP
71, tim St i o ¥
x—0 I‘E
68. ABCD TH wpw ¢ v el ac sfm 8D
7| Trafafias & # F£9-w 7% W BY fa) O
fﬂJ H'FE:EE.’.E ;
I
— —t —_— I
(b} BA +CD = BD+ CA
(o) BA+CD-=AC+ BD fej 1
(d) BA +CD=BC+ AD @ 2
69. g dxb =7 3 b x&=d 3, At Ffafiad )
T # wEA-H] T w6 8T 71_[; LI S a——
1+ cost
fa) & b, ¢ gwt & wemnim § s
jd| =€) 1b] = 1 @ 1
M) @ b, &vem wEEwn g
fol d B & gl i wawnia §, fag o
CIEI )
. fe} +/3
[ @ b ¢ 3ol f wewnim ¥ feg
Bfut I S

ORS-5-FDE/TOA 24



67. Let ABCD be a parallelogram whose
diagonals intersect at P and let O be the

i i e e
origin. What iz O0A + 08 + OC + OD
equal to?

fal 208

—_—

fby 40P
e} GOP
id) 8OP

B68. ABCD iz a quadrilateral whose diagonals
are AC and BD. Which one of the
following is correct?

—_— —f —p —
fa)] BA + CD = AC + DB

— 5 — — —3
b} BA+ CD =BD + CA

—_— — —_— —_——
fcj BA+ CD=AC + BD
{d] BA + CD = BC + AD

69, fdxb=¢and b =T =@, then which one
of the following is correct?
fa) d, b, ¢ are orthogonal in pairs and
|d]=|¢| and |B|=1

® —

(] _-E, b, C are non-orthogonal to each
other

fel d, g, ¢ are orthogonal in pairs but
a2

q, i'.;, ¢ are orthogonal in pairs but
1b]# 1

(d)

GRS-S-FDE/TOA
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70, If B=2i+3}+4€ and B=31+2]-Ak

are perpendicular, then what is the
value of A7

fa) 2
b 3
fcl 4

[ 5

£l
P1. What is lim = —B*2)

x=x{ J,_-=

equal to?
fa} ©
-] S

fe} 1

fcd) 2

72. What is}ji

equal to?
1+ cosf 4

fal

B3

b 1

fc) 3

fdl None of the above

[ P.T.O.
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73. ]'
x{x +7

1 x? =1
al —1In
fel 7 =

by lln ' +1

7 x

.

fe} In

+C

o7
d) _:

T+
x7 +1

74, X 3 v & #Am: M owAl ¥ fim wem
Fi:X =Y, 9 f(x)=cosx g0 Fiém 7, o=l
x & X B, Utk 3l SrewEd g e

fa) |0, n] HT-1, 1
(b) [ = EJGTHH 1]

(e [0, m) R (-1, 1)
(d) [0, =) # (0, )

76. AR fix)=- ".1. *, - ﬂ‘?l..ﬁmﬁ:mic?
-

_,I"lfu+1F

W 1[%)
(B fia®)
@ £[2)

() fi-o

(RS-S-FDE/T0A 26

=1 e |
76. J'[x te X e A7
x® +e*

2
X
|I'¢:|:lj _'3- +

{Bl Injx+e]+c

el In(x®+e)+c

+a')+e

() infxt
i

77. 9m ffae B r:-6, 6 2R %, &t fR
fle=x%-3 sm Ff@m 2 F=fakaa =

Tarme i -
L fefef)-0=(f L= )1

2. fofefHl=N=af o f= Y
={f = IO}

TR § A FA-m T
fa) FaEd 1

b} e 2

fe) 1 s 2 9=t

(d) Td 1,382

78, T TG R f(x) = px+ g W glx) =
B [ (glx) = glf () e e B2

fal  fipl=
b Flgl=gin)
fel  fil = glg)
fe}  [fim)= g(p}

fix + I

g {m]




73, What iafI{—T _ul:quul to?
x' +
faj —Lin e e
2 ! 41
1ot ]
b} ?in = #C
ez
el In IT 1 b
X
7
el E11'1 cud +c
B,

¥4, The function f:X =Y defined by
Fix) = cos x, where x € X, 18 one-one and
onto if X and ¥ are respectively equal to

fa) G nf and [-1, I}

n =
ib) [‘a‘: 5

] and [-1, 1]
g |, n]and (-1, }
fdl ]G, n] and |G, 1]

78. If _f[.n']=}-"-‘:-i, then what is .FE:: {::JIJ

equal to?

@ f [—-—“—]

a+ 1

b fia®)
fc) I[;J

fdy fi-a)

GRS-5-FDE/TOA

(%7 + e* Ydx

6. Whatiaj o equal to?
a
X
@ 5o
B Injx+e+c

fef Inmi{x® +e%)+c

fe) —lln (x® +e¥)+e
4

TT. Let  F:|-6, 6 =R be defined by
Fix) = x* — 3. Consider the following :

Lo (Fefefi-li=1F=F=f)i]

2. (FofofN-N=4f=Fcf)Y
=Lf « FHOY

Which of the above is/are correct?

fa) 1 only
fb) 2 only
fe}] Both 1 and 2
{d] Meither 1 nor 2
T8, Let fix)= px+q and g{x) = mx +n. Then
Flgix)} = g(fix)) is equivalent to
fal  flp) = alm)
(b} flgl = gin)
fe)  fFinl = giq)
fd} fim)=gip)

| B.T.0.




70, R Fly =9-x2 &, M

i Fixj—F{l}
=1 x-1
o w37
1
feaf i
1
(b} &
.
22
1
(e} 25

80, 9% fumd e 47

d‘_[.lﬂ

fal

@

GRS-3-FDE/TOA 28

g1, Tm =fm

%, i &
A [ S Y

=

0, = ol
x, HE x WqiE R

ﬂ{xk{
aﬁ;:]l-:]iafng;ii-'.]tt,ﬁi{f—mﬁ
fa) CHH N T (-9 @ Tg)
(b AT U, A # A=
fe) Ag-wE afv anEER

(d} THF SR ATwEE

82. UE Edan e $i e 7 &, el g

flx} = 3sinx -4sin® x

TIHE BT

i

faj

Ll

i}

e —

(d} m

83. A xdy= yldx + yedyk wil) =130 yjx > 0

?, A y|- 3) ks wrm B
fa) 3
k) 2
o 1
{d} ©



79. If Flx) =49 x2, then what is

lim Fix-Fil
x—x] x=1

equal to?

B0. What 1s Ei: equal to?
dy

ORS-5-FDE/TOA
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Bl. Let
X, xisrational

Xxl: P v

Iix 0, =xisirrational

and

(x] 0, xisrational
i B A

g X, Xxisirrational

Hf:RaRandg:R <R, then (f - g)is
fa) one-one and into
bl neither one-one nor onto

fe] many-one and onto

{d} one-one and onto

B2. Whalt is the length of the longest interval
in which the functien

fix)= 3ginx -4 gin® x

is increasing?

fa}

Wiy

(b}

T

I
fc) E

fd) =

B3. Il xdy= yidx+ ydyly ywilj =1 and yix} = 0,
then what is y{— 3} equal to?

fa} 3
fb} 2
fel 1
fdf 0

[ B.T.O.




84, WoH  fix)=4sin® x+1 # HbuFEa 7= 86. = wiiknm

) g7 dyy? Pl
{2 &)
) 5
&) fat ofw =1 (wfd) s Y
Fl] R
fa) 1,2
2
* fb) 2.1
a1 fc) 1,4
(d) 4, 1
85, wH d@fae fix), sin? x w1 uw SRR TEE
R 87. o ¥ THema A T ;,r"'i —i',ﬂy+.r?=ulza1'|
Tt wud] w fomm $ifaw A AR W w2
5 1 fa) (x?-2y2)p® -4pay~x* =0
E _.ﬂ.-q T%EF fl.I"'ﬂ}:.r!-I] aﬁr 'I"b.l' {KE_EHE}PE qu_xﬂ =0
e 9 : fo) (x® +2y%|p? ~4pay-x* =0
ainzl;xv-nb-ainﬂx%, ot FefEE ¥ fd} (x* +‘3__L,|3!p2—4p1y+x?-ﬂ
o)
sl pu B g
T F  wed # Preafafes § 4 SR a8
TE HEl B
(o] ER F A RS WS 2, W LW B8, ST WSO yde-(r+2y7)dy=0 H
Al THEE ST W 8T
0
(b) W R WA R, e w2, 1w @ x=3y+ay
Hﬁﬁ'ﬁmqﬁﬁ ﬁ'J' x=2|:y2
fe) FE 1 wE T, g A 2 e R fc} x=2y* +cy
(d) wam | e ¥, T TR 2 W R i) = # | = T
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B4, What is the maximum wvalue of the B& What are the degree and order

function flx)=4sin? x+17? respectively of the differential eguation
: 2 2
faj 3 y=x[g-_g] +[jfr] ?
o fa) 1,2
o) 2 2,1
) 1 fel 1, 4
fd) 4, 1

1 ] 1 14 :
85, Let flx) be an indefinite integral of sin™ x. 87, What s the difierentiel equaten

Consider the following statements ; corresponding to Hi ~ 2y + x? =a® by
eliminating ay

Statement 1 ¢ (a) [.:ri e B o
The function flx) satisfies 2 e

_rl:.'-'l.'+:|t_| "_lr["‘j fﬂ']‘ 'B'“ T'Eﬂl X, -er t':":i _EHEJFE +4P'xy_ IE = u

Statement 2 : : fe) (x2 +24%)p? -4pxy-x? =0

sin21.s:+1':] =%in” x for all real x.

fd}l (x2+2y%)p? -4py+xZ =0
Which one of the following is correct in

respect of the above statements? whete p =

dy
o
fa) Both the statements are true and

Statement 2 15 the correct

; BB. What iz the peneral solution of the
explanation of Statement 1

differential eguation

2 =
fh) Both the statements are true but ydx ~{x+2y" | dy =07
Statement 2 iz not the correct
explanation of Statement 1 fa) x=y*+ey
fol Statement 1 1= true but fb) x= Ecyi

Statement 2 15 false

fe} x=2y% +cy
{d} Staternent 1 is [alse but
Statement 2 is true fd} NWone of the above

GR3-53-FDE/TOA 31 | B.T.O.




gBo, T witm fF owh x #m oy ¥ Bm

Fix+wh=fixafiae @ 5 Fes we
(96T £ ), fix) 1 srEee §)7

fe)  S15) (0
) 15 - 10
e} IS0

(e)  FI5)+ 0

90. AR flx) # gy, Sfix=fla-x =W
glx)+ gla-x =2 % TE F AW F
W’E,'ﬂﬁj:ﬂx}g:x]dxﬁmﬂwmt?

f [ glxdx

) [} flxax

e 2[; fixdx

fdy 0

GRE-3-FDESTOA
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91. mﬁmln(ﬁ}—n= 0 T B B
)

e

L

fcf

(d)

= xa" +¢

x= e +¢

y=lhx+e

x=Iny+c

92, = A fR fix) P e

i

2r+l, =3<x<-=-2

fixl-J.x—l, -25x<0

l.t+E, |

s W & e A Piefafiss =l 3 3
TR T R

faj

i)

icl

(d)

TR x = -2 T HEEa B, s vl o
farg W @i #

TE S WAUE - 3, - 2) §HEE

TR x = O W HEAE B, ElEd T A1
forrg w wa@ )

T T i T AEE 2



89. Lot flx+ 14 = fix) f(14 for all x and 3 Then
what s 7[5 equal to jwhere f(x) is the
derivative of f(x)]?

tal  [(5).F10)
(b FI5)~ £
fe)  FIS1S10)

fed) 31+ 10

90. If flx) and g[x] are continuous
functions satisfying fix) = fla-x) and
glel+gla—-xj =2, then what is

[5 fix glx)dx equal to?

fa) [ glxidx

b [ Fixee

fe) 2[) fixldx

(d 0

GR5-5-FDE/TOA

91. What is the solution of the differential
equation

.-d-y'\‘!.
In[ZZ}-a=0%
ﬂlde 0

fa) y=xe® +c
(b) x=ye" +c
fe} y=Inx+c

fdl x=Iny+c

92. Lat fix) be defined as follows

2x+1, -3=x<-2
flx})=s x-1, =-2<x<0
[x*l DL x<l

Which one of the following statements is
correct in respect of the above function?

fal It is discontinuous at x=-2 but
continuous at every other point,

() Tt is continuous only in the interval
*_ 3| = 2]:

fe} It is discontinuous at x=0 but
continuous at every other point.

fe} 1t is discontinuous at every point.

[ E.T.0.




93, Fratafen s & fimm i

1. @ lim fix) 3% lim glx) 391 TEem
K=+l

=il

B, @ lim {f{x) g(x)} e 2

I—a

2. i lim {fix) gl fRmm ¥, o

XL

Terepma %

lim flx) W lim gix) T HEHE

o FeA A f - ad e

ja) FEE 1
{b) Had 2
fe) 1 32 @

fd) a1, Adz2

oq, Fpfafian wo 4 & FH-m w9 @ @A 8, A

CIRELETS

fal x* -1

) x+2

el x|

i x%(x -3

GR5-53-FDE/TOA

95. log,o (5x% + 3) F1 x % ATy e 71 7

*logjg e
S5x% +3

fa)

2x logig e

& 5x2 43

10x logn €

fel ax? 1 3

10x log, 10
5x2 43

(d)

o6, ‘-‘rﬂ?ﬂﬁﬂxﬁ*ﬂnhz—:?l

Frtefian o fa=m Hifan
1. FRa)= fla)+1

2. f[2)=-ria

Il A wR-m R e
fa) F9 1

fh) FEA 2

fe) 1 # 2 EE

d 9 @1, Ad 2



93. Consider the following statements :

i, I lim fix} and lim glx) both exist,
K=l

A —=+7l

then lim {F{x) glx)) exists.
K—rd

2. W lim {fix] gix)) exists, then both
X0

lim fix] and lim g{x) must exist.
X =%l X =]

Which of the above statements is/are
correct?

fap 1 only
fhi 2 only
jc) Both 1 and 2

{dl Neither 1 nor 2

94, Which one of the following functions is
neither even nor odd?

fa) x%-1

W x+2
ax

el ||

[ =%x-3)

GRS-5-FDE/TOA

95. What is the derivative of log,, (5x< + 3
with reapect to x?

xlogy, e
fa ————
5x? +3
2x 1o &
) 0
QX" +3
10
fe) fl;gms
., Bx*+3
10 log, 10
) — 2..3"__
ax= +3
06, Let fla)=2"1,
a+ 1

Consider the following :
1. f2al= fla)+1

1
18 —_ ==
f(5)=-ri
Which of the above izfare correct?
fal 1 only
fhl 2 only

fe) Both 1 and 2

fd} Neither 1 nor 2

| B.T.O.




o7. a0 G 99 F a1 (arEia) S A1 T
T fiyw = fieRan dEwa = B

ME
faf 3

]

fcf

) =

o8, wm @ % fx = x4+ %i!, =® xe (0 18,
W1 Faeferiias # 8 wi9-o v uhl BF
fa)  flx), S0 § g -aga 8
(b} fix), s H 290H B
fe)  fixl, S 4 grEOH
(d) 3T A A HE

99. "M if fF %o flx)= x", n2 0 TFE x
¥ fou smwer B, & n Ty siemE w5 w6
S B e B

fa) |1, =

fa) 10, =
o (34

(d) Il B H FE

GRS-5-FDE/TOA

100. j':_z, |¥|dxﬁm~%ﬁa¢m??

fa)

B3 s

-

fc} 3

(d) 4

101. 20 &0 =1 w5 R ofE weE e w3 9

ey iR wm, A o R oA e
w1 gm?

fjal S
b 10
fe 15

fd) 45

102, 100 Yuvi ¥ UE Wg & W 20 UW R

=% | gg v v 6 o|n dew e 8, i
21, 21, 18 3 20 7= fem o= =R
TR BE S wis T =, A e ae R

fal 18
(B} 20
o &

(d) 22



97. What is the maximum area of a triangle
that can be inscribed in a circle of

radius a?
fa) -332
(b} ::12—2
. fijf'f_
i .,-_’3:1

98, Let j‘i.».:r:,a:+l, where x &l 1). Then
X

which one of the fbllowing is correct?
fe} Flx) Ductuates in the interval

bl Flg) increases in the interval

fe}  flx) decreases in the interval

fd) None of the above

99. Suppose the function flx)=x", n2 0is

differentiable for all x Then n can be
any element of the interval

fal [L, =
fb} (D, =)
o (3o

{d] Mone of the above

GRS-S-FDE[TOA

Inx

X

a
100. What is [, dx equal to?

fia)

)

ba | gn

fe} 3

id) 4

101, The variance of 20 observations iz 5, If
each observation is mulbiplied by 3,
then what iz the new variance of the
resulting obaervationa?

fa) 5
fb) 10
fe} 15

e} 45

102. The mean of a group of 100 obaervations
was found to be 20. Later it was found
that four obserabions were incorrect,
which were recorded as 21, 21, 18 and
20. What is the mean if the incorrect
observations are omitted?

faj 18
fby 20
fel 21

jd) 22

| PT.0.




103. = gt of 3 whenst A @ Q) =i |

TitE T e B s Wb ® f gl A
el Aiend By

i
fal z

ib

| =

=

b | =

(e}

ol 1o

104. 9 Fafdd 4, B i W U TF BT

2, Bl =8 H oId Wik s
llmlsmoirmimma
3 4

=Y

|
@ 22
)

fef

S T N Y R

= | G

fd)

105. firdl s 3 150 faenfdsri =1 wma 79[ 60 ke

B wan A wgE F W FAA 70 kg § 3N
wrefiEl w1 55 kg B HE A AR H HEAT
Terdt 7
fa) 50
b 55
fe) GO
(d) 100
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108, If&

106. 3 afim wema A 3t B % fomw oaw B o

3 & PlA=0.2 3T PIE)=0-5 &) UR
A BE, @ oufida witmmad pa|g) siv
P(B)A) & | HHa: W ET

3
5

fd) H= s R

107, Fll 99 % et uw fag afeos w0 8 49

Wl B wiEn BT we T 2m ww A

ity 1 s I9F ¥ ¥ wiis i e
@ -
® o
C
@ 5
4y-15x+410=0 i

30x - 2y - 825 = 0 T (x) 3l 9 [y) &
#= 9 weEe End §, A el e s W
T HE T

fal
(bj

fel

Pl Wi W= Wl

fe}



103. A committee of two persons is constituted 106, For two dependent events A and B it is

fram two men and two women. What is given that P(A)=0-2 and P|B)=0.5 If
the probability that the committes will A B then the wvalies of conditional
have only women? probabilities P{A|B) and P(B|A} are
1 respectively
fa}
6 w 2 3
: fee) = T
bl - 2
3 = 1
y by 5
1
© 3 IR A
5
) 2
fe) 3 fdl Information is insufficient
104. A question is piven to three studentis A, o IPﬂlil'lt":IITj ﬂh_nmt: Al nm o
Band Cwhose chances of solving it are g Al toe pralability tha!._ e
1 1 1 : : point is closer to the centre of the circle
E' 3 and 4 respectively, What is the than to its boundary?
probability that the question will be fa) 1
solved? 5
1 1
S e
@ 5 4
1
1 CEE
({21] = 3
3 G-
L) ||'E'J E 2
el 23 108. If two regression lines between height (x)
24 and weight (y) are 4y - 15x+410 = 0D and
30x-2y—-825= 0, then what will be
1058. The mean weight of 150 students in a the ecorrelation coefficient between
certain clasa is 60 kg, The mean weight height and weight?
of boys in the class is 70 kg and that of 1
girls 15 53 kg. What is the number of fat 3
bovs in the class?
1
a) 50 ™ 3
bl 35 (c) 2
3
fc} B0 3
(d) —
fd) 100 4
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109, firel uften § 409 arcafdd 3 fadm Af om 112, o =0 wgfm =7 & swmfm §, o Felie

A e st F v FERE (T8 W°) A sAfaE weal 8§ F9-1 U e
T:;Tt?ﬁrﬁ%ﬁ#mw fa) 2 = WFF FEET = 5« F HEEA
fa) 40° (b) QO° {b) 5 xWHE foaeH = 2« e fomee
fe) 144 (d) 3200 fc) 4 = o BEEA = 5« o faeem

(d) 5 WHF Fae = 4 = airea Haew
110, Frefofms st w f=r Fifn .

= 1 113, Fefefim & @ f w0 1 o7 5 5= B @
e
e, wiETm % T = o T 2 B —
A 2 2. HrolEg ¥
W, W A & e # o3 e 3. e ¥
i e 81 i fau g = v = ad I iy
A wel & wad A Pl @ | 9w fa) a1 a2
wé) &7
(b} @ 2 33
fa) ®9R 1 3R W= 2 °F W R el
wE 2, T 1 W O e fej @ 1 am 3
() FEE 1 3 wwE 2 s W8, e [ 1,233

wE 2, FeE 1 =1 gE s e R

) LY, AN .2 Y 114. & m wifEeR wiwE % fom, s 3 .
(d) U 2 W R, W e 1 e R & fom ofn sirengs @ wfis % Bw oms o=
R Al @ oam W owieedw e PR, W@
fmg P yE, ¥ o F Feoad 49

111, = we § FA w52 v R amm am H P T 2 A7
Tl 3§ B v Feeen s 21w s A
w1 wiEm & e w6 g R L
L o fb) e
" 13 ST
. . fc) WEEEh
& 55 e = fel) v He
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109, In an examination, 40% of candidates
got second class. When the data are
represented by a pie chart, what is the
angle corresponding to second class?

fa) 40 fb) abr

1447

fc) fed) 320¢

110. Consider the following statements .
Statemenl 1

Range is not a good measure of
dispersion.

Statement 2 ¢

Range is highly affected by the
existence of extreme values.

Which one of the following is correct in
respect of the above statements?

fa) Both Statement 1 and Statement 2
are correct and Staternent 2 is the
carrect explanation of Statement 1

Both Statement 1 and Statement 2
are correct bul Statement 2 is
niot the correct explanation of
Statement 1

by

fe) Statement 1 is  correct but
Statement 2 is not correct
jd] Statement 2 is correct  but

Staternent 1 is not correcl

111. A card iz drawn from a well-shuffled
ordinary deck of 52 cards. What is the
probability that it is an ace?

] a
@ = t) =
e = () —
T 52

GRE-8-FDE/TOA
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112. I the data are moderately non-
symmetrical, then which ene eof the

following empirical relationships 1s

corresl?

jap 2 x Standard deviation
= 5 x Mean deviation

fbl 5 x Standard deviation
= 2 » Mean deviation

fe) 4 x Btandard deviation
= 5 Mean deviation

fdl 5 x Standard dewiation
= 4 x Mean deviation

113. Data can be represented in which of the
following forms?

1. Textual farm
2., Tabular form
2. Graphical form

Select the correct answer using the code
given below.

(a)
(i
fcf
fic)

1 and 2 only
2 and 3 only
1 and 3 only
1,2 and 3

114. For given statistical data, the graphs for
less than ogive and more than ogive are
drawn. If the point at which the two
curves intersect is P, then abscissa of
point F gives the value of which one
of the following measures of central
tendency?

f)] Median
()
fel
fel)

Mean
Mode

Geometric mean

| BT 0.




115. Tafufan = o fEr Hif 118. T = IFm o 5 WR E, 4 = owfeem

1, @ gomt el T | st §, a9l o adf e, a4 o7
T " H =iEd B, TR 9 F ufid 1
14 @ b B @ 3
2. @ ynisE w9 #@ AEiED T & :
w1 miawa, W gEE &} 3
WEEHAA] F G0 % = g
T el § W R i (el §
faj A 1
d) >
(b} EE 2 6
fe) 1 32 9]
i) I, TE 2 119, o difam fF A i B @ nafs swafda

yeand E, o PMJ=§! = Piﬁj=-4—1 1

116. 9fd x F y W T y T x T FEHEA TR F(A ~ B) =1 7H ¥ 32

I —-;#R—%t,rﬁxai’ng#aﬁa

@) <

HEHRE TN 8T =

2 ke 1

) a fb T {b) 3

1 1

Y - = 1

% 16 e 4 fcl =

5
117, 5 Ywni % ve wfinsl @ e 32 @ wivem [ -

33 % 9@ A g% 9En T F v S e B
35 % T UL 40 T = Tew T w1 4fE e
& 1 dik wn g, O Fefaliam 8 ®¥R-m 120, Tl fige @vem w1 wien sdn g faem @

R 12 st 2 ¥ shEe (hee) i wen
fer) e v miEE o 2% wd § T 27
By wiieE =8 TwA #, B owme sm o fa) 2
g (b} 12
fet = AR TR 3] FE OB W §
) men W@ w3, g WEE W A i %
i B d) 24
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115. Consider the following statements : 118. If two fair dice are thrown, then what ia

1. Two events are mutually exclusive the probability that the sum 1s neither B
if the occurrence of one event nor 97
prevents the occurrence of the 1
other. fx) E

2. The probability of the union of two

mutually exclusive events is the (B 1
sUm of their individual 4
probabilities.
3
Which of the above statements isfare fc y
correct?
fa) 1 only icd) =
bl 2 only e

fr) Both 1 and 2

i) Weither 1 nor 2 119. Let A and B are two mutually exclusive

events with PLA) = _; and P(B) = ?i; What
116. If the regression fucfﬁcmft of x on g 15 the value of Pl - B
and yon x are "3 and "3 reapectively,
1
thern what 1s the correlation coelficient fa) 6
between & and y?
| 1 ]
-— b —— o]
fa 3 fb) 16 fb} a
1
o] — ] = i
fci T fei) P @ +
3
117. A sample of 5 ohservations has mean 32 ;
and median 33, Later it is found that an [fe 1] s
observation was recorded incorrectly as
40 instead of 35. If we correct the data,
then which one of the following is 120. The mean and standard deviation of a
correct? binomial distribution are 12 and 2
ja) The mean and median remain the respectively, What is the number of
same trials?
fb) The median remains the same but fa) 2
the mean will decrease
fe The mean and median both will (b 12
decrease @ 18
{d} The mean remains the same but
median will decrease fd) 24
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